
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Negative Exponents of 10 (Power of 10)

423.7 × 10 =(−1) −2 × 10 =(−1)

10 =(−4) 10 =(−2)

172.9 ÷ 10 =(−3) −3 × 10 =

10 =(−4) 2 × 10 =(−3)

10 =(−3) 10 =(−1)

733.5 × 10 =(−1) 10 =(−2)

412.6 × 10 =(−1) 5 × 10 =(−2)

10 =(−1) 110.9 × 10 =(−3)

10 =(−4) 3 × 10 =(−3)

10 =(−1) 10 =(−3)
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Negative Exponents of 10 (Power of 10)

423.7 × 10 = 42.37(−1) −2 × 10 = −0.2(−1)

10 = 0.0001(−4) 10 = 0.01(−2)

172.9 ÷ 10 = 172900(−3) −3 × 10 = −30

10 = 0.0001(−4) 2 × 10 = 0.002(−3)

10 = 0.001(−3) 10 = 0.1(−1)

733.5 × 10 = 73.35(−1) 10 = 0.01(−2)

412.6 × 10 = 41.26(−1) 5 × 10 = 0.05(−2)

10 = 0.1(−1) 110.9 × 10 = 0.1109(−3)

10 = 0.0001(−4) 3 × 10 = 0.003(−3)

10 = 0.1(−1) 10 = 0.001(−3)
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